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MEms | 2RI | Bod | A350 | mr |[FEERLesoen] L WEEOE| S
ot RBTN| Lo
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Om 22.0 22.2 22.0 21.6 22.0 25.1 A 31 21.9
2m 221 22.2 22.0 21.6 220 25.1 A 31 22.1
5m 221 22.9 22.0 21.6 220 25.0 A 30 229
10m 22.0 222 22.0 21.6 220 25.0 A 30 —
B-1m 21.9 229 217 21.9 22.0 25.1 A 31 223
F2 E5
s 3 o 3 42 BBl (H28.10.27)
BEtes | BRI( | Bow | #50 | ar |PAERleswex] oo [WEE0Z| Wi
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Om 34.3 34.4 34.4 34.4 34.0 343 34.2 0.1 33.9
2m 34.3 34.4 34.4 34.4 34.0 34.3 34.2 0.1 34.1
5m 34.3 34.4 34.4 34.4 34.1 34.3 34.2 0.1 34.2
10m 34.3 34.4 34.4 34.4 34.1 34.3 34.2 0.1 —
B-1m 34.3 34.3 34.4 34.3 34.2 34.3 34.3 0.0 34.4
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Om 638 6.1 59 6.3 6.9 6.3 6.1 02 6.7
2m 6.7 6.1 5.7 6.3 6.8 6.2 6.0 0.2 6.6
5m 6.6 6.1 57 6.2 6.8 6.2 5.9 03 6.5
10m 6.6 6.1 58 6.3 6.7 6.2 58 0.4 —
B-1m 6.5 6.1 58 6.4 6.5 62| 55 0.7 6.4
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KE 178 24.6 155 183 165 11.0
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i [21(9/8) 4.3 3.0 4.1 — 3.8 2.0
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Om 19 0 5 650
EEJA 2m 26 0 4 10
5m 21 0 5 0
Om 2 0 4 10
Es 2m 9 o) 4 50
5m 9 0 2 120
Om 0 0 1 10
HS9 2m 1 o) 3 30
5m 0 0 2 10
R . 0 0 0 2 10
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” 5m 0 0 3 150
Om 0 0 1 10
5 Al 2m 0 0 4 0
5m 0 0 1 60




